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SECTION ~ A
(GECGRAPHY)
Marks — 33

Answer Question Nos. 1 to 4 in a sentence each.

In which state do you find the rooftop rainwater harvesting system known
as tankas ? ‘ 1

D waT e g e K e wee W T wRw Bh9l (YT ?

Give two examples of man-iade disasters. y 1
ST oot e st Wi Ay |

Name the resourcé which itself is a resource creating factor. 1
TP TA CTIN AXT COAN 7 PN T IS |

Why should people be trained for disaster management ? 1

wRfme Neg et araeiSf Ghe MoaRae 2

Contd.

Answer Question Nos. 5 to 7 in about 30 words each.

How is road transport more adVantageou_s than railway transport ?
Explain by giving two peints. ; 2

mmwmw{ﬁac@mmmc@Wmm 7 RN
memt :

What are the objectnves of the Green Revolution and the Whne Revolution
in India ? b2

mﬁaﬁw@mw:ﬁﬁw@ﬁmwﬁmiwﬁwﬁm ?
Sugbest any' two measures to be taken up to control noise poliution. 2

e (Fer-caisin) comp eI EMNEPRI (TR SRR el
- Answer Quastion Nos. 8 to 13 in about 50 words each.

Draw a full- page outline map of India, and locate and labe! the following :
2+1=3

'm.m@aﬁtmﬂwm.wmﬁmmmmwﬁw@{

(i) Jawaharlal Nehru port

State one _charécteristic with example for each of the three types of

"metallic minerals. ‘ .3

mgmmﬁwwwgwﬁ% e’{w'v{mﬁmamm [
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10.

11.

12.

- 18.

14.
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Describe the three different ways in which electrlcity can be generated
and mention the fuels used inthem. . . 3

Wﬁm mmw\wwmwmmgwﬁ
vmji'w% |

List any three merits for growing high-value crops by Ind]an fé'nners. 3
mcﬁﬁtﬁm@mm—meﬁ: R I TZHIGR Y |

Explam any three factors responsible for the shifting of sugar mdustry
towards south India. - " .. 3

m—mm@wﬁwmﬁmwmm‘

What type of soils according to mineral composition do you find in Ukhrul

 Imphal and Jiribam ? - AL '3

ﬁmam%mﬁmwmmwawm Tom S R
T 7

AnsWer Que's'tian No.14 in about 120 words.

Write an account of the important trees found in QMerQnt forest types of
India. 5
SROR (IS~ COIGTRT B AR @ﬁmm%ﬁ:ﬁtm‘{q I

or
Write an account of any five multi-purpose proj.ects of India.
TR LA HFG-2RPTEr CRCes TSP NawaT 2 | |

Contdl.

15:

16.

i R

18.

SECTION - B
(HISTORY)
Marks — 34

Answer Question Nos. 15 to 18 in one sentence each.

In which year did the First Nupilan (Women Agitation) occur ? 1

FF SR AL A AN A 2

What is a market ? : : 1
CareE T sRen 2
Mention the immediate problem of Manipur caused when the Japanese

and the INA forces conquered Burma ? 1

SRR AT TG T oA S WY 0 @ AR 2y T ARy
SR e caRal s R T |

Who were the sections of people of Manipur benefitted by the Second
World War while it brought misery to the common people ? 1

RN R grem Meufiey wm-owm1 wrzEs] w2y Nedfeli wmatac

Answer Question Nos. 18 and 21 to 23 in about 30 words each.

19. Name the two revolutions which occurred in 1830 and 1848 in France
‘ 2

TRl BN Fafic 1830 wwAe 1848 W carelRa sweic) eﬁrfﬁ e g
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20.

On the map drawn as answer to Question No. 8, Iccate the following :
i+1=2

@z TR 8 NGY SER G I Ol WA ik ¢

(a) The place, with name, where Mahatma Gandhi broke the Salt Law

ST SEAT LI S enzfRar s Wi e

(b) The place, with name, where the session of the Congress Was
held in September, 1920.

4P Fabie 1920 M waw A S ey vl wrag ko & |

21. Point out the fate of India’s hancicraft industries with the introduction of
tre system of modern industry in the countty. ‘ ' 2
Carars ST CIKEATE “LATA ST NSL-NCS (HRF N SHoe! YR Ot
conezana PraTee TREERE awTs o e} 7

22. “The Great Economic Depression gave birth to a new era of economic
nationalism.” Justily the statement by citing two points. 2
OB (T ARG WA S TR S o1 S ¢y 1
SN ST A qre Gt paR g 899 |

23. What might have happened today if the print cuiture was ﬁot there? 2
e 7 e By o ot R e 2

Answer Question Nos. 24 to 28 in about 50 words each.
24. Name any three of the Peasant Movements thatoccurred in India during
" the 19th and early 20th centuries. : | 3
SIG] YBT TATIE W1 5251 S TG BR-5i71 SGH ST (AR RN
5C3 wrrd wfbe ¥y |
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26.

27.

‘How were the British Industries affected by ‘the Great Economic

Deprass:on or Crisis of 1929 19397 ‘ : 3
@M Faf 1929 1939mmmwﬁmwmmaqa$ﬂm§r§m%
TR TR e IR 7 '

What were the aims of the European Common Market or the European
Economic Community 2 . . 3

mmmmmwwﬁmmﬁmv

Show how the newspapers played an lmportant part in spreadmg
democratic nationalist ideas among the Indian people dunng the second

‘ _ half of the nineteenth and early twentieth centuries. 3

28..

29,
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IR e i SR SR S e S A S5 e
T TS -coRic ST TEIREH Rty wrg R R e

WA T TSN (IR G R Y |
Mention three import_aht effects of the Japanese bombingé on imphal in
1942, ' : 3

< B g 1%2mmwmmmc=mﬁmm@wm
]

' Answer Questicn No. 29 in about 120 words.
How was the unification of ltaly achieved in the 19th century ? 5
B Ao w1 5 -5 A1 KR Sl CoRRe SRR

Contd.



30.

31.

?."?h

34.

36.

37.
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'SECTION-C
(POLITICAL SCIENCE)
Marks—17

Answer Question Nos. 30 and 31.in a sentence each.

How is the power of the government distributed horizontally among the

three organs of the government 2 = , 1

S TR HAER o AL AR (m)ﬂmﬁtwwm cumwsr ?

State a situation in which shanng of poweramong the political parties is

direct. 1

gl P SR mwmmmm G TG |-
Answer Question Nos.. 32 to 36 in about 30 words each.

What is the main purpose for the establishment of the Manlpur State
Commission for Women ? Give two reasons. 2

e (Be T T R Pirven e e Soen FRe ?mwﬁtfﬂgu

ldeptufy two constitutional devices to combat communalism in India. 2
Dlstmguieh between Federal Government and Umtary Government in
two points. 2

'mmwwmwmmmw.

Write two drawbacks of the working of Panchayati Raj in India. N
SR, AT RGN 43 R O] W e X |

Why is it said that expecting more and 6omp!aining more is itself a
testimony to the success of democracy ? Write by giving two points. 2
T CZAT T (H SRR YAl IR TR T S st T e e
RN FARIT 2 TR S MG TS |

Answer Question No. 37 in about 120 words.
Explain in five reasons for the sustenance of democracy in India. 5

TR SIS DT ARG Lo TR e B TS |
Contd.

39.

40.

41.

42.

43.

SECTION-D
(ECONOMICS)
Marks - 16

Answer Question Nos. 38 to 40 in about 50 worads each.

State three activities of the World Bank. 3
A6 @D A SIS T |

Give three reasons why there is sex ratio adverse to female in a
developing countrydike India. K]

ST B AARR o Sl A e e RN O T S A |

Identify the change that has taken place with economic development in
the phase of primary, secondary and tertiary sectors in national income.
3

SIS SR CATCAH T O -aN ST BIGRRAT19M (ATl AR, G9!
SrpR GABER CTERMARR A A TS OIS |

Answer Question No. 41 in about 120 words.
Explain the functions of Central Bank. 5
OGN @ER WAL T TS |
Answer Question Nos. 42 and 43 in one sentence each.
Name the sector which provides services to people and business. 1
et SR TR - RS AT A9 G M IS S W 2 |
Give a reason why barter is found to be inconvenient. i

© o coneat e {TTISOT ZRAN RN Sl A |
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